EXHIBIT A Request for Proposal



Corporate Headquarters

OFFICE: 904.764.6887 FAX: 904.379.6193

ADDRESS: 12235 New Berlin Rd

South Florida Office OFFICE: 954-842-4771

ADDRESS: 5400 S. University Dr. Unit 101 Davie, Fl 33328

murphypipelines.com swagelining.com

November 29, 2021

Axel Rivera
City of Fort Lauderdale
Public Works Department (Engineering)
100 N. Andrews Avenue
Fort Lauderdale, Florida 33301

Project: P12566- North Redundant Sewer FM Emergency

Re: Change Order No 04 - Interconnection with Wilton Manors at NE 15th Ave and NE 18th St

On January 26th, 2021, the MPC team, the City of Fort Lauderdale and the City of Wilton Manors met in the field to discuss adding an additional FM connection on NE 15th Avenue and NE 18th Street. It was requested that MPC provide a proposal for the additional work. On February 22nd, 2021, we received follow up correspondence from the City of Fort Lauderdale concerning the work and all parties involved (RFP 004). It was agreed that both parties would pay 50% of the total cost of connection.

Scope:

Description

Provide an itemized lump sum for the design, materials, labor and equipment for additional Wilton Manors connections.

Detailed in Back UP:

• Wilton Manors Connection

RFP004

Response:

The MPC Team has reviewed the scope and provided attachments in response to request and comments. Additionally, MPC conducted additional field investigations and engineering services to submit an RFP 004. From our preliminary engineering design, the MPC Team proposes to modify the scope to complete the intent of the proposal request. Herein attached, is the MPC team's exhibit drawings for the RFP004 that details items that will be provided.

RFP 004 Wilton Manors FM Connection Cost: 50% of actual cost of \$167,543.28

\$83,771.64



Schedule Impacts:

MPC is not requesting additional calendar days for this work.

Should you have any questions, please do not hesitate to contact me at my office at +1 (954) 842-4771, my cell phone at +1 (954) 954-254-7898 or send me an electronic message at $\frac{\text{RichardC@MurphyPipelines.com}}{\text{RichardC@MurphyPipelines.com}}$

Respectfully submitted,

Murphy Pipeline Contractors

Richard Crow

Director of Engineering and Special Projects

CC:

Andy Mayer, MPC



MURPHY PIPELINE CONTRACTORS 5400 S. UNIVERSITY DRIVE, SUITE 301 DAVIE, FLORIDA 33328

Phone: (954) 842-4771 Fax: (954) 254-7898



PROJECT: P12566 - North Redundant Sewer FM Emergency CHANGE ORDER NO.: 04

TITLE: Interconnection with Wilton Manors at NE 15th Avenue and NE 18th Street

	<u>Description</u> DEQUIPMENT	<u>Rate</u>	<u>QTY</u>	<u>Unit</u>		<u>Total</u>
1.0	Crew Cost - Installation of Pipe, Fittings	\$ 10,409.49	4	Day	\$	41,637.96
2.0	Crew Cost - Testing	\$ 830.00	3	, Day	\$	2,490.00
3.0	Crew Cost - Restoration	\$ 1,660.00	2	Day	\$	3,320.00
			Engineering	Design - 10%	\$	4,744.80
			General Con	ditions - 10%		
			Markup - 17%			8,872.77
			Bond & In	surance - 2%	\$	1,221.31
					\$	62,286.84
MATERIALS	_	62 020 22	4	1.0		62 626 22
1.0	Quote from Ferguson Exhibit A	\$ 62,830.32	1	LS	\$	62,830.32
2.0 3.0					\$ \$	-
3.0			Engineering Design - 10%		\$	6,283.03
			General Conditions - 10%			0,203.03
				Markup - 8%	\$	5,529.07
			Bond & Insurance - 2%		\$	1,492.85
					\$	76,135.27
SUBCONTR						
1.0	Surveying Change of Applicable	\$ 775.00	1.00	LS	\$	775.00
2.0	Stamped Asphalt	\$ 8,050.00	1.00	LS	\$	8,050.00
3.0	Asphalt	\$ 83.62	14.00	TN	\$	1,170.73
4.0	Allied Trucking - Aggregate	\$ 2,053.33	1.00	LS	\$	2,053.33
5.0	Allied Trucking - Hauling Excess Material & Disposal	\$ 350.00	1.00	LS	\$	350.00
6.0	MOT Devices	\$ 120.00	5.00	Day	\$	600.00
7.0	Pavement Markings	\$ 1,500.00	1.00	LS	\$	1,500.00
8.0	Milling & Resurfacing	\$ 422.22	18.20	SY	\$	7,684.44
				Design - 10%	\$	2,218.35
			General Conditions - 10%			
			Markup - 17%			4,148.32
			Bond & Insurance - 2%			571.00
					\$	29,121.17
				TOTAL	\$	167,543.28



FEL-POMPANO BEACH WW #125 1950 NW 18TH STREET POMPANO BEACH, FL 33069-1394

Phone: 954-973-8100 Fax: 954-917-3134

Deliver To:

From: **Blake Bowmaster**

Comments:

Page 1 of 1

09:13:43 JAN 27 2021

FEL-POMPANO BEACH, FL WW #125

Price Quotation Phone: 954-973-8100 Fax: 954-917-3134

Bid No: B460420

Bid Date:

Quoted By:

Customer:

01/26/21

WBB

MURPHY PIPELINE CONTRACTOR

FORT LAUDERDALE EMERGENC

12235 NEW BERLIN RD JACKSONVILLE, FL 32226 Cust Phone: 904-764-6887

Terms: **NET 10TH PROX**

Ship To: MURPHY PIPELINE CONTRACTOR

FORT LAUDERDALE EMERGENC

12235 NEW BERLIN RD JACKSONVILLE, FL 32226

Cust PO#: CITY OF FT LAUDERDAL Job Name: WILTON MANOR INNERCO

Item	Description	Quantity	Net Price	UM	Total
	WILTON MANOR INNERCONECT CITY OF FT LAUDERDALE				
SP-MJTP4LA4224	 42X24 MJ TEE P401 LINED L/ACC	1	7851.650	ΕA	7851.65
MJTCAPP4LA24K	24X2 MJ C153 P-401 TAP CAP L/A	1	945.000	EA	945.00
SP-MJPV24GNUT	24 MJ PLUG VLV EPOX LINED W/GEAR	1	16971.480	EA	16971.48
BING5B18S	18-24 CI SCRW VLV BX #18 W/ SWR DOM	1	125.000	EA	125.00
SLDEP42	42 DI MJ WDG REST GLND PK *ONELOK	2	1571.100	EA	3142.20
SLDEP24	24 DI MJ WDG REST GLND PK *ONELOK	4	365.700	EA	1462.80
T250PP424	24 CL250 P-401 DI FASTITE PIPE	140	161.000	FT	22540.00
FCDISJFGG24	24 DI SJ FAST GRIP GSKT ACIPCO	6	1027.500	EA	6165.00
		Net Total:			\$59203.13
			Tax:		\$3627.19
		Freight:			\$0.00
		Total:			\$62830.32

Quoted prices are based upon receipt of the total quantity for immediate shipment (48 hours). SHIPMENTS BEYOND 48 HOURS SHALL BE AT THE PRICE IN EFFECT AT TIME OF SHIPMENT UNLESS NOTED OTHERWISE. QUOTES FOR PRODUCTS SHIPPED FOR RESALE ARE NOT FIRM UNLESS NOTED OTHERWISE.

CONTACT YOUR SALES REPRESENTATIVE IMMEDIATELY FOR ASSISTANCE WITH DBE/MBE/WBE/SMALL BUSINESS REQUIREMENTS.

Seller not responsible for delays, lack of product or increase of pricing due to causes beyond our control, and/or based upon Local, State and Federal laws governing type of products that can be sold or put into commerce. This Quote is offered contingent upon the Buyer's acceptance of Seller's terms and conditions, which are incorporated by reference and found either following this document, or on the web at https://www.ferguson.com/content/website-info/terms-of-sale Govt Buyers: All items are open market unless noted otherwise.

LEAD LAW WARNING: It is illegal to install products that are not "lead free" in accordance with US Federal or other applicable law in potable water systems anticipated for human consumption. Products with *NP in the description are NOT lead free and can only be installed in non-potable applications. Buyer is solely responsible for product selection.



HOW ARE WE DOING? WE WANT YOUR FEEDBACK!

